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1. AR TERN TAIE8 2. RIS N TSI
(1) 574700 (2) 0.00425 (3) 46198.735 - (1) 8.4x10° (2) 6.789x10
%0 (1) 574700 = 5.747x100000 = 5.747x10° (3) 52836.7x107 o
(2) 0.00425=4.25%0.001=425x10" % (1) 8.4x10° =8.4x1000 = 8400
(3) 46198.735 = 4.6198735x10000 = 4.6198735x10" (2) 6.789x107 =6.789x0.01 = 0.06789

(3) 52836.7x107 =52836.7x0.001 = 52.8367

. 3 AR S BB — 2K C 4 S HET T AR BRI
L) 26x10° (2) 1.23x10™ (3) 2468.357 (1) 2.53x10° (2) 9.462x10’
() 10028 (3) 1.6888x10”
@) 107 8% e %i(1) 3+1=4
(3) 2468357 =2.468357x10° - = g} (2) 7+1=38
(3) 50+1=51
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6. BHE T YIS BHSEFTRET ©

5. SUHIETE 5 S BU bR/ NE - e/ NBURE DU T 58
ALATBAERRE
(1) 3.645x102 (2) 2.38x107
(3) 8.657x10°% -
% (1) ~(-2)=2
@) ~(-5)=5
(3) —(-30)=30

(1) 1.256x10*° (2) 6.02x107%
(3) 1020000 (4) 0.00098 -
L (1) Afd
(2) 3@
(3) 1020000=1.02x10° .75 3 {i
4) 0.00098=9.8x10" .. F2{d
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7. ARG MY S BEVE (FERA AL

) |

(1) 2.35x10°+3.61x10°

(2) 4.23x10™ -2.954%10°8

(3) 6.82x10° +5.13x10° -
(D }ﬁjﬁé=(2.35+3.61)><106 =5.96><1(;)6

(2) Ak = (4.23]- 2.95[4]) x 10"
AT
=1.2[76]x10°*

=1.28x107"
(3) Pk =68.2%x10" +5.13x10°

= (68]2]+5.1[3))x10*
T HERE

=73[33]x10°

= 73.3x10°

=7.33%x10°
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B

(1) (1.3x10%)%(2.14x10™)

(2) (3.269x107)+(1.57x10") o
() (13><10“)><(214><10“)

2ﬁr_7§ ERE=E
=(1.3%x2.14)x10*"

=2.782x10*
~2.8x10"

2B/
(2) (3.269x10")+(1.57x10")

4 ER 3rEWN —
3.269%10"

T 1.57x10"

32.69x10"

© 1.57x10"

=20.821

IAER S
=2.08x10'



